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Note : Section ‘A’ containing 8 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’
has to be solved first.

Section ‘A’
freTfera Sifierg SWIT J9 & ST TH a1 & A
431
Answer the following very short answer type
questions in one or two Ssentences. 1x8=8

1. gEoHa & HFF=adr &1 GG &1 Tdg &9
ferfia |

P.T. O.
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Write the mathematical expression for Heisenberg
uncertainty principle.

S-F17eA &1 T GHIET (FaeT) ffay
Write the de-Broglie wave equation (only).
rsar-3799ra &l GRYIfd &g/

Define radius-ratio.

. CIF; & U TF PR FaET

Give the hybridisation and shape of CIF;.

. CO & FYHH H1 7T BT (a7 FT TavgHdr

781)

Calculate the Bond order of CO. (No diagram is

necessary.)

. H3PO; &1 &Rierar &1 &kl &7

What is the basicity of H;PO5 ?

faerar quEeT &1 GRYIId HIT |

Define the solubility product.
ST % 1 SIRA-FRTEel & T 9 g [
Write the name and formula of two oxy-fluorides of

Xenon.
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Section ‘B’

frlferd g ST Fo4 & I 150-200 1% FIET
731

Answer the following short answer type questions
with word limit 150-200. 2x5=10

YIS TT-GHIFIT feafaa | 39 fafy=T godl &
37¢f FATET TAT y TH 2 H GEFHAT GHIAEC!

Write the Schrodinger wave equation. Give its meaning
of symbols and explain the significance of y and 2.

HIgqr
Or

d-SUHIT &% Gl H&H & AHIFT SRE T
Draw the labelled diagram of five orbital for d-subshell.

. Bo 799 1 3STET0 9ied e H1f97 1 NaCl T
LiCl & @ HI7-97 gggarst difie & ik #4412

Explain the Fajan’s rule with example. Out of NaCl

and LiCl which compound is covalent and why ?

HIqr
Or

yefaeTHE FM 87 p T n FBER & FHErcrd H
THEET |
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What is semi-conductors ? Explain the p and n-type

semi-conductors.

. Lp—Lp>bp—Lp>bp— bp TIIHYT I GHAET/

VSEPR 45T §RT SF,, 317 & a0 TG SII4fd &l
EalELdl

Explain Lp — Lp > bp — Lp > bp — bp repulsion. Give
the hybridisation and geometry of SF, molecule with
the help of VSEPR theory.

sferar

Or

F, 317 &7 37f0qeh FH&ieh NG TAH $Hh] T4HT
Tq GEHIT FAER B GHERT |

Draw the M.O. diagram for F, molecule, also explain

its bond order and magnetic behaviour.

fasvf garar = &2 Li-Mg &1 9R [aav-garTar

ferfiaa |

What is diagonal similarities ? Write the four diagonal

similarities in Li-Mg.

[ 4]
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3797
Or

BRI A THIT R Gl fewo e

Write a short role on Fullerenes or Graphine.

. XeO; TF XeF, &1 GHIU T GIT] AdTEY |
Give the hybridisation and structure of XeO5 and XeF,.

HIqr
Or

YR AT Gerkl & A1H Td GF [ellaq | I8
fadts TgE & qvErq a1eT F g &7

Write the name and formula of interfering acid

redicals. Why they interfere after second group.

gug ‘g’

Section ‘C’

freifeRd G ST g9 & 3R 300-350 95 Hia
731

Answer the following long answer type questions
with word limit 300-350. 3x5=15

. AT S HI URYIT Hifow) gYg, fgdg wq
FAT ST Foif T T FHHIT: gl 1 & 2 A2
& AT oIl BT HH HFEST Q@ w7 82
gDl FYIfFT A dIct FRE o [raq |
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Define ionisation energy. Why the value of first,
second and third ionisation energy are increasing
respectively ? Why ionisation energy of nitrogen is
greater than oxygen ? Write its effecting factors also.

37q4ar
Or

n+ 1 99 &1 e FHIT ] FFEES [Ag &
3T9GR Cu TF Cr & SoaiiTa fa=rq foafaq qor

ardfas fa=ma 4 FaEg

Explain the » + / rule. Write the electronic
configuration of Cu and Cr according to Aufbau
principle and also give the actual configuration.

ST il 1 & 7 d7-89 T 1 NaCl HT 337670

.E"WWW/

What is Lattice energy ? Explain Born-Haber cycle
with example of NaCl.

37qar
Or

STToTeh S &1 & 2 ek Td Feehed I 1 GHEAET |

What is Lattice defect ? Explain the Schottky and
Frenkel defect.
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3. GHE HI GRSV FIGT/I §9% SER W PCly TF

PCls 37737 & TH T Tl &l GHARY

Define hybridisation. Explain its hybridisation and
structure of PCly and PCls.

HIgqr
Or

MOT &% 38R T THEEY 1 O, TR &, T
TGP TYFH HI T HITT)

Explain on the basis of MOT O, is paramagnetic and

calculate its bond-order.

. XX'; T8 XX's TR & S~R-gaalord dfehl &
G TF GIo1 &} o=l Hig

Discuss the name, formula and structure of XX'; and

XX's type of inter-halogen compounds.

3qqr
Or

TP T A [aferhel #1 Gl H GHET |
Explain the structure of cyclic and chain silicates.
GRIT qoT! &1 fhad THel 4 @il T 87 qag
SIRT GeTeh] dlcl GHE &1 AH a4l oIkl & AH

ferfiaa |
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Basic radicals are divided into how many groups ?
Name the group having highest number of radicals

and also write the name of radicals.

3adar
Or

3T G P TH-WETYE THIT & THET

Explain the monoatomic nature of noble gases.
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